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QUESTION BOOKLET
This question paper contains 170 questions. / 38 ¢4 T § 170 W¥A £ |

All questions are compulsory. / adft w7 rfraE € |

One question carries half mark only. / T 5 % fo¢ et e 31 2 |
Maximum Marks : 85 Hfteha 31 - 85

Time : 2 Hours U - 2 g

: 1 Select the incorrect statement :

(A) A critical path always begins at the very first event.
(B) A critical path always terminates at the last event. g&
=

(C) Critical activities control the project duration.
(D) Critical activity is the one for which free float is zero.
ITAd hYH hl II1 H ©
(A) shifereh T Y JE3TTT FHIT GE9IH HeA1 § Bl 3 |
(B) shifereh T gHIM AT 11 @ ARG T T |
(C) hifers Mafafemt afersHT srafy s st 2 |
(D) mmﬁﬁéﬁﬂ%mﬂsﬁwqqy&a% I
2. If Young’s Modulus is 1.2x10° N/mm? and Modulus of rigidity is 4.8 x 10*

N/mm?, then Poisson’s ratio will be )
afg T 1 W 1.2 x 105 N/mm? ¢ 3R gga1 719 4.8 x 104 N/mm? g, T

WTET 3T &R
(A) 0.25 (B) 0.3 (C) 0.5 (D) 0.9
3. The most accurate method for the determination of water content in the

laboratory is

~ (A) Sand bath method (B) Oven drying method
(C) Pycnometer metiod (D) Calcium carbide method
Sl'ﬂ%’f?ﬂ?ﬂ #5379 Freicor it wew g fafr B
(A) o9 FE 9fy (B) 375+ Y&k Tty
(C) it fafy (D) Hicem Hetes fafy

4.  Due to a rise in temperature, the viscosity and the unit weight of the
percolating fluid are reduced to 60% and 90% respectively. If other things
remain constant, the coefficient of permeability

- (A) increases by 25% : (B) increases by 50%
(C) increases by 33.3% (D) decreases by 33.3%
AT 8 S o T, 377 58 Hi TAAT AYT Thish Fwid U A 60% A1
90% T a1 3 | Ae 31=1 =S 37 Tt & 98 TRt 0Tish
(A) 25%Seiz | (B) 50%weaia| (C) 333%%gais | (D) 33.3%=earg |

5. Total number of “National Parks” in Himachal Pradesh is
e vy “TG I 1 Het &A1 2
A) 1 (B) 2 (C) 3 D) 4
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6. Which of the following is/are recipient(s) of Parshuram awards ?
(A) Kumari Kamlesh (B) Uma Kumari
(C) Rajiv Nayyar (D) All of these

= 8 @ 1w e s 8/8 2
(A) TR FHAAN (B) FWHFH () wfaazm (D) gg e

7.  Tenzin Gyatso is the

(A) 14" Dalai Lama (B) 7™ Dalai Lama
(C) 10™ Dalai Lama (D) 9™ Dalai Lama
AR wrea) #

(A) 149 TeTs @™ (B) 74 goATE I
(C) 109 TATE ™I (D) 94 TTE &

8.  Lipa Monastery is located in which district of Himachal Pradesh ?
(A) Lahaul-Spiti (B) Kinnaur (C) Shimle (D) Sirmour
form At e Ra s s A R A fRE
(A) wRe-wfifs (B) fH=iR (C) Time (D) RrR

9.  Piploo fair is celebrated in which district of Himachal Pradesh ?

(A) Una (B) Kangra (C) Chamba (D) Manali
faue] #e ferrea e S A A TR ST R 2
(A) F1 (B) =T (C) =war (D) THTE

10. Bhoyjri festival is celebrated at which place in Himachal Pradesh ?
(A) Bilaspur (2) Hamirpur (C) Kullu (D) Chamba
iort Ieqa fEaT=rer Wew A fohd T8 WA SiTat 2 2 |
A) e (B) TR ©) 3o (D) =

11. Chhanak Chhaam is a folk dance performed by the people of which district
of Himachal Pradesh ?

(A) g@?ul-Spiti (B) Solan (C) Kinnaur (D) Kullu
T B ok 5T B, T R R A A Ry i e 8 0
(A) Ew-gfifs (B) = (C) =ik (D) &

12. In which&laﬁ; was the broad gauge Delhi-Nangal rail line extended to Una ?
feeehl—TTTeT __ TEH T ot Tore o AT e S T o7 9
(A) 1985 % (B) 1991 (C) 1995 (D) 2000

e s =
— — —
e s e — — ——

— D
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13.

14.

15,

16.

17.

18.

19.

On which item was more than 50% of the first five y pendi
. - : 7 e vear plan expenditure
incurred in Himachal Pradesh ? ’ P P

(A) Agriculture (B) Water supply schemes

~ (C) Road construction (D) None of these
%W?mﬁaa‘mmﬂfhmw 50% & 3feres fereen oW | W W I3WN
7 T
(A) PN (B) e for airermd
(C) HssH fmior (D) ¥ & 1g TE
Which of the following was not the Lieutenant Governor of Himachal Pradesh ?
(A) M.S. Himmat Singh (B) Bajrang Bahadur Singh
(C) Bhagwan Sahai (D) N.C. Mehta
Frferiga § @ 19 feams vew & I9-Ts9uTe T8 9 2 ESE
(A) w.wH. ferratie (B) s s fUiE ﬁﬁ?ﬁ
(C) W= dg™ (D) T.H. AE '
Which is the largest division of Himachal Pradesh ”
(A) Mandi = (B) Kangra (C) Shimla (D) None of these
AT 989 %1 g Se HeA FH AR 2
(A) HUE (B) wHimel (C) Omian (D) T & H1E A&

Mian Chunchoo and Basti Ram Pahari were the prominent leaders of which
of the following ?

(A) Pajhota agitation (B) Kunihar Struggle
(C) Dhami firing tragedy (D) Dujam movement
forat < e st T AT P & o e e 9 2

(A) TEiT AT (B) e Tu

(C) et et U (D) 9™ JHEeH

Suketi fossil park is situated near which place of Himachal Pradesh ?
(A) Kandaghat (B) Fatehpur (C) Pragpur (D) Nahan
et Sl U TATere Yo 8 i € STE o IE @ ?

(A) FigERE  (B) BAEH (C) WA (D) &
Kunt Bhayog lake is situated in which district of Himachal Pradesh ?
(A) Kullu (B) Mandi (C) Chamba (D) Shimla

Uz W Sl T Tew & H & fet o fRrm 7 2
(A) Fee] (B) w&t (C) = (D) famen

Vedic name of river Chenab is .
(A) Arjikiya  (B) Iravati (C) Kalindi (D) Askini

e T w dfem AW 3
(D) 3wl

(A) sfifEn (B) U (C) wfert (D) A
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20.

21.

22.

23,

24.

25.

e

The report titled ‘Child Labour : Global estimates 2020, trends and the road
forward’” has recently been released by ILO in association with which
organisation ?

(A) UNICEF  (B) WHO (C) IMF (D) World Bank
fté foraept 3 @ T3S A :ﬁw@ﬂz&;ozo,amwaﬂgﬁﬁ?
gt & & ILO 3 Few ey Y wreierdt § wehiiid ?

(A) IFEF (B) WHO (C) IMF (D) fowa s
What is the expansion of CDN, with reference to the recent Global Internet
Outage ?

(A) Computerised Delivery Network (B) Content Delivery Network

(C) Chip Delivery Network (D) Computer Data Network

W@ﬁ@WWM%WﬁCDNWﬁW/TT%?W%?
(A) Frgesss fefoad ek (B) wwewe fferadl FeT=
(C) = feferadt Feash (D) HFRL T2 1z

Square Inc, which was in news recently, belongs 0 the owner of which
social media major ?

(A) Facebook (B) WhatsApp (C) Twitier (D) Tinder
mﬁﬁmﬁﬁ@@ﬁaﬂm.ﬁqﬁng@@rﬁmﬂrﬁ%m%mﬁ
T 8 ? |

(A) HEIH B) =i@w () fEx (D) feet

If ‘FRIEND’ is coded as ‘HUMITK., how is ‘CANDLE’ written in that code ?
af ‘FRIEND’ ST ‘HUMITK' %, o 38 52 3 ‘CANDLE’ ¥4 foran 2 2
(A) EDRIRL (B) DCQHQK (C) ESJFME (D) FYOBOC

' towards East and turns to right, runs 10" and turns t0 right,
?uggguafgdzggagl 'umbs to left, runs 5' and then turns to left, runs 12" and
finally turns to leti and runs 6'. Now which direction is the rat facing ?

g =51 3 dee & ST g o o 8, 10" e T o A R, 9
?ﬁa}w%i%t Bﬂaﬁ ST 2, 5 drean & 3 SR TR o €, 12! Qe
a7ed: ST FHeRT 6' Qg | 31 g1 e e S AR B 2
(A) East/qd (B) Westaf¥am (C) North/3w (D) South/efmr

25 children Nayan is 14" from the right end. Arun is 3" to the left
(I)I;‘ I%;;%?ﬁ thecrow. What )ifs Arun’s position from the left end of the row ?

zsaﬁ'ﬁﬁ%ﬁmmﬁ@hﬂmﬁé1ﬁ%ﬁm%aﬁfﬂmm%‘
R % TR B A 3 I A B A E 7
) gh/s @ e © T (©) 10h 0

e

"""" 741/2021/Series-D 6

Code No. : &~

https://snowstudy.in

-



26.

27.

28.

29,

30.

31.

32.

Pointing to a lady in the photograph, Dev Anand said, “This woman is my
sister’s father’s son-in-law’s wife.” How is Dev Anand related to the woman ?

(A) Mother (B) Sister
(D) Can’t be determined

(C) Wife
Qs § T A H AR P W g I e Y Fe, “a8 Afgen 710 9w F
RAF e H TN 2 |’ @ AF g A FA wEfa e 2

(A) T ®) W& S
(€) weh (D) w7 feram < wehe i/
The prot_ein of rice grain is of good quality, being rich in

(A) lysine (B) thiamine (C) glutamine (D) gliadin

T T 1 N A0 B F1 2, T0H TR ABTH &
(A) wTEEH (B) mfH (C) TeRHH (D) AT

Oncogene is responsible for

(A) AIDS (B) Typhoid  (C) Malaria (D) Cancer
A= ¥ R e ® |
(A) TeH (B) TEHITS (C) et (D) &

The major ingredient of leather is

(A) Carbohydrate (B) Collagen (C) Polymer (D) Nucleic acid
I 1 YET HUCH 8

(A) FEREEE (B) oA (C) et (D) =T A
A person standing in font of a mirror finds that his image is larger than
himself. This implies that the mirror is

(A) Plane (R) Concave (C) Convex (D) Plano convex
ﬁgwﬁr@ﬁ ot 3 ST Fob ST S 36@ weT R | 9% gfea H R
(A) T (B) Hddd | (C) 3T« (D) |HaA I

The tools and weapons of Harappan civilization were mostly made of
(A) Stone (B) Copper and Iron
(C) Copper and Bronze (D) Stone and Copper

mm%aﬂmwmg@a: FEY |
(A) TR (B) WTETE (C) dAEITEHE (D) T A

Which is known as the Jain Temple City ?
(A) Girnar (B) Rajagriha  (C) Varanasi

24 71 3 AT T el A A8 ?
(A) TR (B) T8 (C) IR (D) TETREG

(D) Allahabad

Code No. : C74172021/Series-D
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33. During the decline of the Mughal empire the Jats were organised into a

jl political force by ot
(A) SurajMal (B) Churaman (C) Rajaram (D) Badan Sing

e WIS & e o qHE, STl o) ey wifdwy & werfeer fopem _
(4) g€ (B) gy () wmmd (D) wEA REd

34. The Peshwa became the official head of Maratha administration in which year ?

e o s T e & s wue Ay 2
(A) 1748 (B) 1767 (C) 1802 (D) 1812
35.  Who is known as the ‘Heroine of 1942 Quit India Movement’ ?
(A) Annie Besant . (B) Sucheta Kripalani
(C) Aruna AsafAli ‘(D) Sarojini Naidu
P TR 311 1942 vz 3R qaie’ & el ot & 2
(A) T (B) o Fuen-A
(C) 3T TEF 37 (D) HTH TG
36. The policy of subsidiary alliance was formulated by
(A) Warren Hastings (B) Lord Cornwallis
(C) Lord Lytton (D) Lord Wellesley
e |iy Hify I =TS % ot |

(A) IRAR™  (B) o FAafe® (C) Wi fier (D) s cvoreht

37.  Salaries of the Judges of the Supreme Court are drawn from the
(A) Grants-in-aid (B) Contingency Fund
(C) Consolidated Fund (D) Public Accounts
AN AT & AT * 9 CRETISIGIE S
(A) HERS 3IEH (B)  mehiemhar fAfr (C) wiifisg Rify (D) & ora

38.  For amendment of the Constitution, a Bill may be introduced jn

(A) Rajya Sabha (B) Lok Sabha
(C) Either House of Parliament (D) Either Chamber of State Legislature

(A) TST&Hl (B) %
(C) FEES P TH W (D) 9 foum wveer & %1€ s e 3
Code No.: C-741/2021/SeriesD 8§ ———————2 U "
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39,

40.

41.

42.

43.

The Panchayati Raj System was adopted to
(A) make people aware of politics

(B) decentralise the power of democracy
(C) educate the peasants

(D) None of these

e TS AT i AT T AT ESE
(A) il 1 TSI & ST A 7 E‘?&
(B) e 3 arftrehr 1 ferdhmlienton &t % forg |
(€) Vit = ffdra w1 79

(D) TH AR T

Which is not a feature of India’s Economic Planning ?

(A) Limited Centralisation (B) Democratic Solution

(C) Planning of imperative nature (D) Planning of indicative nature
2 T W 3 s Frarew ) s @ 8 2

(A) it Hi (B) 1N B

(©) AT THR H ATISH (D) 4 3TTeTe WL T TTAISH

Labour welfare does not include

(A) Education facilities (B) Health facilities

(C) Housing facilities (D) Quick promotion in job
sy ShoaoT 3 |t e 8

(A) e glaand (B) Wgﬁmﬁ

(C) a™ § (D) et & St TQr=fer

The main type of weathering in a region of limestone topography 1s
(A) mechanical weathering (B) exfoliation

(C) chcinical weathering (D) attrition

<Y ST AT & H JOE F1 A TR 2

(A) SThd A& (B) 3AUReshd

(C) TR I (D) wferdor

The greatest diversity of animal and plant species occurs in
(A) Temperate deciduous forests  (B) Tropical moist forests

(C) Heavily polluted rivers (D) Deserts and Savannas

sy e STt St 3 wea fadvear arl ST &

(A) TS Foret 39 (B) IS 3% T

(C) g e wofta At (D) TG dNEA
T T - 9 Code No. : C-741/2021/Series-D
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44,

45,

46.

47.

48.

49.

50.

51,

Pyongyang is the capital of

(A) Sakhalin (@) Taiwan (C) North Korea (D) South Korea
TSy R

(A) Tarfem (B) dmr=am (C) Smwifen (D) Sféror =ifan

Rajasthan remains dry during South-West monsoon because of

(A) lack of vegetation (B) spread of sand dunes

(C) presence of the Thar desert (D) anticyclonic circulation
- AR % Ty & HRT TSI 6 &R |

(A) T 3 s  (B) e frem

(C) U Teeyet ) uffy (D) wia-ashard) s

Which is the important red soil area in India ?
(A) Indo-Gangetic Plain (B) Southern Peninsula

(C) Gujarat and Maharashtra (D) Jammu and Kasiimir

I T T 3 Tyt etrer fored a2 9 |

(A) Tayg-Tm fem (B) cféoft wmify

(C) TSIa aem wenTy (D) S oK HEit

Antonym of ‘Assert’ is

(A) Agree (B) Acquiesce (C) Abjure (D) Abdicate

One word substitution for "Person who claims to have great love for and
understanding of what is beautifu! i, nature art etc.’ is

(A) Critic (B) Aesthete  (C) Connoisseur (D) Artist
He is in the habit of _iis head whenever anything goes wrong.
(A) hiding (B) losing (C) protecting (D) loosing

Meaning of the idiom ‘To haul over the coals’ is

(A) To put hand in & wrong task (B) To throw into the fire

(C) To put to task (D) To say the wrong words

(A) 9: +3¢@ (B) WH+3F (Q) A{+3@T (D) W + 3

52, ‘S AT
(A) &= (B) dcgeN (C) s=rive (D) wghf
53. S ATRER -
® @ Sl Qv )
54, 919 1 YFFETE B |
(A) TeErpm (B) Ushcish (C) i ©) i
Code No. : C-741/2021/Series-D 10
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39

56.

37.

58.

59.

If void ratio is 0.67, water content is 0.188 i o is 2,68, the
degree of saturation of the soil, is and specific gravity 15 £:5%

ﬁgﬁa@mom 3, v 0,188 2 3 ffire e 2.68 B, TE1 1 W

(A) 25% B) 40% (C) 60% (D) 75%
Accurate determination of water content, is made by

(A) Calcium carbide method (B) Sand bath method

(C) Alcohol method (D) Oven-drying method
ERINEIRDIDRELIRY Y I TR | ESE
(A) Hfowm watse Bif (B) el F faft Fj?&
(C) Twwhiatet fafy (D) -

The liquid limit and plastic limit exist in

(A) Sandy soils (B) Siltysoils  (C) Gravelsoil (D) Clay soil

g -EHT T e H EECikeiE

A T @) g (O S (D) TEEH

A phreatic line is defined as th> line within a dam section below which
there are

(A) Positive equipotential lines (B) Positive hydrostatic pressure
(C) Negative hydrostatic pressure (D) Negative equipotential lines
aqtﬂsﬂm%@ﬁwm%mm%aﬁ%éﬁa‘fam%%ﬂm%%@
Rasfm  AaR/Ed |

(A) EFATE we @ (B) e Faredifereh g

(C) FTT e g (D) ZRUTTcH THISWE @Y

The lateral earth pressure on a retaining wall

(A) Is equal to mass of the soil retained

(B) Proportional to the depth of the soil

(C) Proportional to the square of the depth of the soil
(D) Proportional to the internal friction of the soil
e R /e y-g

(A) T 72T o GEAHTH o WA BT & |
(B) &1 1 TETE 3 HAIIH &l 2 |
(C) a1t TETE i % W B 2 |

(D) w%aﬂaﬁmaﬁm%m@qﬁa@m%l

11 Code No. : C-741/2021/Series-D
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" e, acts at
60. The total active earth fpressure due to dry back fill with no surcharg

H/3 above the base of the wall and is directly proportiona! £

maﬁw%mmgm%wwwa—mﬁﬁ%w%w
H/3 W foben e 8 af 3 ST BT 8 | 3
(A) H (B) H (C) H2 (D) H

61. The angle of int iction i imum for
(A) Aﬁgular—griﬁiliﬁgg;gl axlm(B) Angular-grained dense sand
(C) Round-grained dense sand (D) Round-grained loose sand
HTAR TH0T—hroy ¥ R waife £ |
(A) HIMF-TRER TeEd Ta (B) WvfiE-gHER e
(C) TEI-GHER W el (D) Tei-gHeR 37eEa &l

62. When drainage is permitted under initially applied 1;ntmal stress only and
full primarily consolidation is allowed to take place. the test is known as

(A) Quick test (B) Dreined test
(C) Consolidated undrained test (D) Al of these
T TS AT 7 IR i snefis T o Tihd @ (hae TR H IS

fireTe ufather o 31l B) wlieror ) ==a7 ST &
(A) 33 wigm (B) STYae gl
(C) Tfifeq sTaTe wew (D) ug &t

63. A failure wedge develops if a retaining wall
(A) moves away from tae backfill.
(B) moves towards ihe backfill.
(C) sinks dowuwards.
(D) stresses equally by vertical and horizontal forces.
ferset (urar) o forpfira 2ran 2 afg T o Ry
(A) 9B RO & §et fawed 2 |
(B) U8 ¥RUT shi T Rewepe! 2 |
(C) FR A uEwdi R |

(D) FeATeR qo1 o el & T Sferaferg 21t 2 |

64. Under-reamed piles are generally
(A) Driven piles (B) Board piles (C) Precast
31=a: Taeifed urger ;8 .
(A) AT (B) WEUEA  (C) el wee () 1 &

Code No. : C-741/2021/Series-D B — hitps:/endwatudy.in
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67.

69.

70.

11,

72,

In a hquid hinat test, the moisture content at 10 blows was 70% and that at
100 blows was 20%. The hquid himit of the soil. is

& 3@ @ qdam &, 10 s w aft ) qrn 700, o 7w 100 = T T8 20%
oft | g1 Y 29 Hhw R

(-\1 35% (B)Y 509, (C)

I'he Westergaards analysis 1s used for

(A) Sandy soils (B) Cohesive soils E?
CH

(C) Stratitied soils (D) Clayey soils

65“ o (I)} 550“

ITEY faverww w1 3ggi ey wmar 2

(A) §RIT (B) gESAgE  (C) wfmga (D) I A
Uniformity coefficient of well graded soil is

(A) 1 (B) Lessthan2 (C) 2 ‘D) Greater than 2
0T 27 71 THEHHAT O &

(A) 1 (B) 28%W (C) 2 (D) 2¥ =

[f void ratio of a soil sample is 0.5, the porosity is

FfE g1 T+ fifddt e 0.5 R, 99 Wy 3

(A) 48.1% (B) 50.5% (C) 33% (D) 55%

Sunlight in context with water bodies
(A) Helps growth of bacterias (B) Impedes growth of algae

(C) Increases dissolved oxygen content (D) Reduces turbidity

SAE & F § gITHTT
(A) S $ g d ggem Fag | (B) Yo A gfg N aRm s |

(C) gferd RS s gd | (D) Ny gerand |

Aeration of water is done to remove

(A) Odour (B) Bgcteria (C) Turbidity (D) Hardness
e 2q 9@ & arg-frsor fem s &

(A) Ty (B) & (C) @@ (D) wara

Biochemical Oxygen Demand (B.O.D.) of safe drinking water must be

A Tt 1 F3 TR SHefir 77T (B.0.D.) et ey
(A) Nilfl (B) 4ppm (C) 5ppm (D) 10 ppm
The temporary hardness of water can be removed by

(A) boiling (B) adding lime (C) addine a] o
S $I AT FIAT 2 Freren < gaéuzn (D) filteration

(A) &R B) TfEm () Yom fremy (D) Theem

—— . __https://snowstudy.in
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73. The rate of silting in a regeryoir
(A) isless in the beginning and increases thereafter. -
(B) remains constant throughout.
(©) is more in the beginning,
(D) is more in the beginning and reduces in the end.
STATSR | HIET X
(A) & 3 %9 Bt & i 30 71g e 2 |
(B) &R 3i 7 Thuw wadl 2 |
(C) YRaT A waTeT Bt 2 |
(D) & ¥ w9rer Breft R it a7 F et £ |
74.  Increase in population of a rapidly growing city, may be estimated by
(A) Arithmetical mean method (B) Geometrical method
(C) Incremental increase method (D) Graphical comparison method
ﬁﬁaﬁ;ﬁw@lmqﬁw T &1 HhdT &
(A) HHTR A1ey Ty 9 (B) iz fal¥r &
(C) =it gfg fafer & (D) e e Rty
75.  For Indian conditions, the water bound macadam roads, are suitable if daily
traffic does not exceed
(A) 2000 tonnes (B) 2500 tonnes (C) 3000 tonnes (D) 3500 tonnes
Wit TRfedfeR % fore, S aiteg dhen we% Svae £ AR e gamEm
| 3t 7 g |
(A) 2000TF  (B) 25007 ~ (C) 300024 (D) 35002
76. Which one of following types of submerged soils is susceptible to
liquefication under eartiquake shocks ?
(A) Densesand (B) Softclay (C) Fissured clay (D) Loose silt
91 5 9 %1 8 W 1 9 g 1 e ey ST Sl & Terar & 2
(4) TR (B) TR (C) frarfwafie (D) sred e
77.  The relationchip dp/dx = dz/dy is valid for
(A) Irrotational flow | - (B) Non-uniform flow
(C) Uniform flow (D) Unsteady flow
=Y dp/dx = dz/dy foFae e ar=r @ 7
(A) SEivEE  (B) €W JaTg (C) &°M yarg (D) 3t yarg
78.  On concrete roads, the camber generally provided, is
(A) 1in20to1in24 (B) 1in30to 1 in 48
(C) 1in48to1in 60 (D) 1in60to1in 7
hshlc Tgehi T, HHIA: Yoo et
(A) 209192471 (B) 30% 1@ 48% 1
(C) 48W 18607 1 (D) 60% 1@ 724 4
Code No. : C-741/2021/Series-D e
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79.

80.

81.

82.

83.

84.

Floating gradients are generally provided ,

(A) along maximum gradients. (B) along minimum gradients. l
(C) at summit curves. (D) at valley curves.

T el e wed B § |

(A) I=IaH AR & FHHIRR (B) frram Afde= & TR

(C) et ami w (D) =T Fhi W

For a properly designed vehicle, the resistance generally ignored, is

(A) Wind resistance (B) Rolling resistance

(C) Grade resistance (D) Axle resistance
SRy Of @ ST aTes & ar: Rre sy @ S fha S R, T8 R
(A) TR (B) MmuRAY (C) dewhhw (D) e Sf

For a comfortable travel on Highways, the centrifugal ratio should not exceed
§ ot T g =T |

TES T AHEEH THT ¥ HUH3! FI
(A) 1/10 B) 125 (C) 175 (D) 1/4

First operation during the detailed survey of a hili road, s
(A) Hydrological and soil surveys
(B) Adjustment of alignment along with curves

(C) Staking the ground =
(D) Fixation of Bench Marks _ ﬁ
TRTE! Tewh ¥ Freqa TS % FHY I F & =

(A) SefiT qeT eI T ‘

(B) HIE! % GHIRR GG 1 FHRSH

(C) T I Gl ¥ BT

(D) Frdw fere el

Super-elevation on (0ads 1N SNOW bound areas, should generally not exceed
T qREg 831 § T YT STEl ISH FHE: Y 31ftres T B =R |
(A) 5% (B) 10% (©) 30% D) 7%

Along a hil! road, a side drain is provided on

(A) outer cide of a spur curve.

(B) outer side of a re-entrant curve.

(C) inner side of both spur and re-entrant curve.
(D) outer side of both spur and re-entrant curve.

ﬁg@ﬂa@aﬁtﬁe@ﬂaﬁw,wﬁmﬁw W I HN
|

(A) TR HIE & SR AN

(B) 3ia: Yiae WIS o STl AR

(C) T e 3ia:ufaE Mg g1 % il aik

(D) TR a1 a9 M gF & wmer 3k
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85. To indicate proper control of consistency of a freshly mixed concrete for
pavement construction, the stump should be between :
(A) 3toSem (B) 4to6em (C) Sto7em (D) 7to10cm
Yam=e Ao 3 AR a0 Sshie s & e % 3k e fifde w1 & forg
CERIG % dt9 | g1 =R |
(A) 385cm  (B) 486cm  (C) 587cm (D) 7¥10cm
86. Depth of reinforcement below the surface of a concrete pavement, is
generally kept _
I JaH= H Ha8 & A1 o0 TeUs AH=I: Tl T R |
(A) Scm (B) 6cm (C) 8cm (D) 7cm
87. The specific speed of a turbine under a head of 300 m to develop 200 HP
while running at 120 rpm is
120 IR0, W g7 Td 999 200 Ta.H. 7 sgH 7g S 300 H 'S & e
2 UE T et i e e @
(A) 10-35 (B) 35-60 (C) 60-300 (D) 300-1000
88. The head light of vehicles should be such that its 'ower beam illuminates objects at
forelt aTea i Remse UH B TTfe 6 so e @ W /@ =g
T TN TR |
(A) 25m (B) 30m (C) 60m (D) 45m
89. As the depth of immersion of a vertical plane surface increase the location
of centre of pressure
(A) comes closer to the centre of gravity of the area.
(B) moves apart from the centre of gravity of the area.
(C) ultimately coincides with the centre of gravity of the area.
(D) remains unaficcted.
HY-I foreht Teaty( THaE Tag H FasH I TR 96dl 8, TE- F WH
(A) 83 % JocT-g & P Tgaa 2 |
(B) &% % Toca-%5 & QL Il 2 |
(C) =1 &5 & Torg - o GUTd! & AT R |
(D) AT &R |
90. If cross slope of a country is 10%, to 25% the terrain is classified a
(A) plain (B) steep (C) rolling (D) mountaineous
aﬁ?&?%ﬂﬁm‘&wm%ﬁ%%%?ﬁwﬁﬁmﬁ iffepa
SIGIER
(A) e B) FfawEm () ufem (D) v
Code No. : C-741/2021/Series-D 16 S
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91.

92.

93.

94.

95.

96.

Round«-ab.outs are not suitable if number of vehicles exceed
wmm__ﬁaﬁmﬁ?ﬁ%,rhagqﬁwgmqﬁi |
(A) 3000 (B) 4000 (C) 5000 (D) 6000

d 50 kmph and

Overtaking time required for a vehicle with design spee
icle moving at @

gg:&al;hnmgg?}gmtmn 1.25 m/sec? to overtake a vehic

50 kmph TesTsT TR @@ 1.25 m/sec? AeTeH T T frefl ared @l 30

km h%ﬁnﬁﬁwﬁmmaﬁmmﬁgmm avY

aﬁ{%a'd ?

(A) 5.0secs (B) 6.12secs  (C) 15.48secs (D) 8.3 secs

The minimum ratio of the radii of two circular curves of a compound

curve, is kept

fopt forsy aroh 3 <) el shl oY Brsenadl st = AgAd S R |
(D) 2.0

(A) 1.25 (B) 1.5 @ 175

the curve does not cxceed
a?ﬁaaqﬁ%mmmﬂf&mmt |
(C) €’ (D) 7°

Pot slippers are used if degree of

Sts a3k <h1 Tl J arferes &l
(A) 4° (B) 5°

A heavy ladder resting on floor and against a vertical wall may not be in

equilibrium if

(A) floor is smooth and wall is rough.

(B) floor is rough and wall is smooth. “EE

(C) both floor and wall are rough. (=1

(D) both floor and wal! arc smooth.

Rl el 7 ST T @ S T et R % e @ Y O aeer i
e § € g A

(A) ot R 2 o ez | (B) ol 581 & 3R e faent R

(C) R e e 3 B R | (D) Wl AU an el e & |

A light rope is loaded with many equal weights at equal horizontal
intervals. The points of suspension on the rope lie on a

(A) Parabola (B) Catenary  (C) Cycloid (D) Ellipse
T gerehl T i T Aferst ST T Sgd TR A a9 @ il fopa @ |

Tt e faeg R g |
(A) Taed (B) - (C) =™ (D) g
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97.  Pick up the correct statement from the following :
The kinetic energy of a body
(A) Before impact is equal to that after impact
(B) Before impact is less than that after impact
(C) Before impact is more than that after impact
(D) Remain constant
[EREELES TR Eroe
fereht fvg <t wiftre aort
(A) mﬁ%%ﬁw%mﬁw%m% |
(B) WIS % wgct %50 8, oo F A & |
(C) T % vea 2, UEE h e |
(D) THawH et g |
98. Moment of inertia of 5 Squares of side about an axis through its centre of
gravity, is
o &5 3 B 318 ¥ g @ Y < = T g 3 8
(A) b4 (B) b¥12 (C) b3 (D) b¥8
99. Due to attack of dry rot, the timber
(A) Cracks (B) Shrinks
(C) Reduces to powder (D) None of these
IS T & gnet @ R
(A) E@W%I : (B) 'Hjﬁﬁ@'m%l
(C) IR ¥ ®YaRa B & | (D) 398 & K 7
100. The constituent of cement which is responsible for all the undesirable
properties of cement is
(A) Di-calcium silicate (B) Tri-calcium silicate
(C) Tri-calciam aluminate_ (D) Tetra calcium alumino ferrite
W1 Hidve & g TS ot o forq R 2, HIN= 1 97 Hees
(A) S3-Fioway Rifeee (B) IR-Ffeqam fuferde
(C) T=-Hfcwm (gfre (D) 1 hfceam Y rse
101. Inner part of a timber log surrounding the pitch, is called
(A) Sapwood (B) Cambium layer (C) Heart wood (D) None of these
fert st &1 il e < R 3 HTHITH R T8 HEaATa 2
(A) " (B) Sfmmwa (C) sfaws (D) 43 %18 7
102. Clay and silt content in a good brick earth must be atleast
3= it aftrent 3 frdh ok foree &t o 5w & oy & =R |
(A) 50% (B) 40% (C) 30% (D) 25%
Code No. : C-741/2021/Series-D 18 - -
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103. Plastics are compounds of carbon with element
(A) Hydrogen (B) Nitrogen (C) Oxygen (D) All of these

s iy & wrea u TEF |
(A) ETEGISH (B) HTEGISH (C) Ffaefiom (D) @

104. Three basic raw materials which are needed in large quantities for

production of steel are
(A) Iron ore, coal and sulphur (B) Iron ore, carbon and sulphur

(C) Iron ore, coal and lime stone (D) Iron ore, carbon and lime stone
s IeTe 3 o i et e aared Y WY AT F et g 8, EEE
(A) NE-37EH, FAA A TR (B) wE-IFH, HTaA aUT B
(C) Ye-31T%sh, HiaaN a1 I TR (D) e -3, e qull I T

105. Gneiss is obtained from

(A) Igneous rocks | (B) Metamorphic rocks

(C) Sedimentary rocks - (D) Sedimentary metamorphic rocks
TeH e feRa ST 8

(A) AT AT (B) @riifd 9 &

(C) @) A | (D) T it e

106. Chemically, marble is known as E;EI
(A) Metamorphic rock (B) Argillaceous rock El.ﬁ
(C) Calcareous rock (D) Siliceous rock
T S WS §9 4 YL |
(A) FrEmd i (B) g (O) Hfemd da (D) fuferrma

107. To give a brilliant finish, the type of v
(A) Water varnish (B) Spirit varnish
(C) Turpentine varnish (D) Oil varnish

mm%%mwaﬁwwwﬁ
(A) seai (B) et w (C) g At (D) O a1

108. Durability of building stone is affected by its
(A) Chemical composition (B) Texture
(C) Resistance to atmosphere (D) All of these

sy Fafor geer 3 TfieT W 3 1 IWTE TS & |

(A) TERI{ Feed - (B) A
(C) rgHed i Tl (D) ug @t
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109, Black cotton sotl s unsuttable tor toundations because its
¢\ Beanng capacity s low
D Permeatnlity 18 uneertain
(L) Pacticles are cohesive o .

(M Property to undergo a volumetric change due to variation of moisture conten
1S T T ST ey siquye @ a9ifh

(A) IR Rl s R

B g s R |

() B ETH § |

(D) Wﬁwﬁm%wmwéﬁwm% !

110, The brick laid with its breadth parallel to the face of a wall, is known as
(\) Header (B) Stretcher  (C) Closer (D) None of these
ﬁﬂ&ﬁﬁéww%%wﬁ%ﬁwm%m%mm@ 8 hEerd!
(A) T (B) | (C) I (D) T & ¥ TE

111. In horizontal D.P.C.. thickness of cement concrate (1:2:4)is
e . = |, W I (112 : 4) e 2
(A) 2cem (B) 4cm (C) 6cm (D) 8cm

112. The depth of an arch is the distance beivecn
(A) Ground level and springing line (B) Crown and springing line
(€) Crown and ground level (D) Intrados and extrados
3T RS B _ ®uy i !

113.

114.

115,

(A) 9 9 9T IBE [T

(B) TRt a2t 339 Y

(C) Trat w7 ufty 7er

(D) mﬁ%ﬂaﬁmw@zaﬁmﬁm

Th)e exterior angic between outer faces of a wall, is known as

(A) Tum ~(B) Junction (C) Quion (D) All of these
aan%;‘m@‘mcm%aﬁaj%a%saﬁw;ﬁ Y IET TR |

(A) &A (B) oM (C) Tt (D) =7 Osf

The vertical member running through middle of a shutter frame, is

(A) Style (B) Reveal (C) Mullion (D) Post

e & i A ioea Seaten wm

(A) wEa (B) Tt (C) Hferm (D) Rz

The process of making the background rough, before plastering, is
(A) Dubbing (B) Hacking (C) Blistering (D) Peeling
TTRE T & TEe, TBYH a1 0 i a2 .

(A) efem (B) e (C) feafg (D) i

Code No. : C-741/2021/Series-D T
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116. The highest line of sloping roof, where two opposite slopes meet, is known as
(A) Rafter (B) Ridge

e . (C) Crown (D) Eave
Tl ©d Y I Ya, el Q) v ol frerh €, s e wad ¥
(A) THRX B) f& (C) ShTaH (D) ¥

117. Single Flemish bond consists of

(A) Double Flemish bond facing and English bond backing in each course.
(B) English bond facing and double Flemish bond backing in each course.
(C) Stretcher bond facing and double Flemish bond backing in each course.
(D) Double Flemish bond facing and header bond backing in each course.
THS TAY IS T B @ :
(A) oot wfire wivs BRI i 3R aive AT T HiE A |
(B) IR sive SR 3 zaet st wfve Bt e e 7 | 9:5&
(©) S aivs i o g i aiv e Rw w1 B
(D) Tt Wi wive i i et stve AT v B A

118. Critical section for shear in case of flat slabs is ¢t a distance of
(A) Effective depth of slab from periphery of column/drop panel
(B) d/2 from periphery of column/capital/drop panel
(C) At the drop panel of slab
(D) At the periphery of column

ATz e T g 7 i do §6 gl W R
(A) ﬁm/é\ﬁﬁqﬂaﬁwﬂﬂﬁ@ﬁﬁmﬂ@i
(B) a‘faﬂ/%tﬂzﬂ/@qﬁméw&&lﬁ dr2

(C) T FHZH T W

(D) wier % TR @

119. Curing of pavements, floors, roofs and slabs, is done by
(A) Membrane method (B) Ponding method
(C) Covering surface with bags (D) Sprinkling water method
LCEC Fq 3N X 1 FETe foR ST R -

(A) weH dfad (B) uifen ffa @
(C) Oh & wag sAr=sTE | (D) vt fiferem fife @
21 Code No. : C-741/2021/Series-D
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120. Tricalcium aluminate (C3A)
(A) reacts fast with water.
(B) generates less heat of hydration.

(C) causes initial setting and early strength of cement.
(D) does not contribute to develop ultimate strength.

T Tgfne (C,A)

(A) V& 8 57 wfufra s @ |

(B) TS %t Fs1 1 i Jeqred wean |

(C) HW= % Wi A o sy gmed s1 oo |
(D) ww amed ol 0 o wamar 8 & |

121. In slump test, each layer of concrete i - h
and of 16 mm diametgr for tete 1s compacted By @aiecl rod 60 cm long

FUT T T, FHhie H I T H 60 T e 31K 16 .. #
LA RIECK: | ged ST 2 AR

(A) 20times/SR (B) 25 times/SR (C) 20 times/&R (D) 50 times/ER

122. The aggregate containing moistui= in pores and having its surface dry, is

known as

(A) Moist aggregates (B) Very dry aggregates

(C) Dry aggregates (D) Saturated surface dry aggregate ’
I8 Toemar frees fgi 3 71 ¥t gag 16 21 8, |/ IH IR |

(A) 3 o (B) =1 I faretman

(C) T foreman (D) Eq< TTE Yo foreman

123. Hardening of cement occurs at

(A) rapid raie during the first few days and afterwards it continues to
increase at a decreased rate.

(B) slow rate during the first few days and afterwards it continues to
increase at a rapid rate.

(C) uniform rate throughout its age.
(D) None of these

H= %1 HRA "fed Biam 2

(A) 7o FS e g0 @A 701 98 § 39 WA 9&d1 WA &
(B) Yo $® 7 3/ XA a1 915 ¥ g0 A S war 2
(C) 39 I § < 0 & B § THHAAN &L W a9

(D) 378 | &I T&
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24.

126.

127,

Vicat appartus is used for

E)) g"iens?}gissgfitn time %) C?I}Siswncy'lem
s 5 R (D) Test for tensile strength
(A) ”é!’*am""ﬁmt?ﬁg (B) @y whem &
;tt) @'ﬁb T . IEFT gURg (D) d-dmed &g E
eCOdIlQ I%iiig; al ; in bond, then its bond strength can be increased most
(A) increasing the depth of beam. E5E
B) using thinner bars but more in number. ﬁ
C) using thicker bars but less in number. =
(D a%.-):"ow;ldmg vertical stirrups.
ot i a1V 3 S i 3, 78 e e -aTe, F e

SQTIT 1 Hehell 2 |

(A) w1 TETE S A

(B) Tl ST TR ST GG § SR e

(C) e ¥R TGg HH HEAT H TN FH

(D) W_WWW

A tractor whose weight is 20 tonnes has drawbar pull of 2500 kg, when
\f 30 kg per tonne. If

operated on a level road having a rolling resistance ¢
this tractor is operated on level road having a rolling resistance of 40 kg per
tonne, then the drawbar pull of the tractor will
A) Reduce by 200 kg %B) Increase by 200 kg
C) Increase by 250 kg D) Peduce by 250 k%

3 goer Teve 3TN (I6) 2500 T4 3, 9 3W

ue et foreent o 20 &
= aamm%ﬁﬂw.ﬂﬁﬁnsr%ﬁﬂsqﬁmgﬁra%lﬂﬁ

¥ gHaA %6 R
wzmaﬁ@mmmw.'w%ﬁwﬂ%ﬂqﬁm 40 T . wid

“%’W;T%W N (B) 200 kg ¥ |
200 k g ¥ e
(&) 4 (D) 250 kg &= |

(C) 250kg g §e | .
Crash project duration s obtained by summing the
A) Normal durations for all the activities

B) Crash duiauons for all activities N _
:ons for all the activities along the critical path obtained b
C) Crash dwrabor, nt the normal duration for all the activities o

ing into accou | du e _
(D) tc{:lll.(;;ll% cllrtllr(e)tt?ons for all the activities along the critical path obtained by
taking into account the crash duration for all the activities
X Ziepe & WIS S S § |

EMRCIER] —
(A) e CE e

it b1 3 T .
% ﬂﬁﬁmaﬁﬁﬁwﬂﬁr@ﬁ@m@mw%w

mﬂa:rﬁaﬁ-aaﬂaﬁﬁl . |
(D) mﬂwﬁﬁ%ﬂﬁﬁﬁmﬁ?@ﬁ@w@mﬁmw%m
o Bl
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128. If tis the duration of an activity, tl is the latest finish possible moment of

its preceding activity and t2 1s the carliest start possible moment, the
independent float of the activity is

TR t et vl o ararfty R, t1 & ofqam wwfey wva st s e w5

3R 2 R sferem sy wwa myvl) i 1 e wrE R,

(A) (t1-2)-t (B) t-(t1-t2) (C) (t1+t2)-t (D) t+(tl -12)
129. In a built up section carrying a tensile force, the flanges of two channels are

turned outward |

(A) To simplify the transverse connections
(B) To minimise lacing

(C) To have greater lateral rigidity

(D) All the above

T T I8 e Ttk derm 3, <) et % wetwsil b arer 34 g i
(A) TP EEHI D TAFARY  (B) SR HTHEHa F3 74
(€) SIS gaI I HFAR] (D) Fgmh

130. Pick up the correct statement from the following :

(A) Dead load includes self-weight of the structure and super-imposed
loads permanently attached to ihe siructure

(B) Dead loads change their positions and vary in magnitude

(C) Dead loads are known in the veginning of the design
(D) None of these

R d a et s s s =t

(A) &Y 9T A JHafde g ST H1 W@ R 3R T=T @ e i et
TRRHATH 2 |

(B) sy YR | RIfd Igerd & 3R gfmmr sge # |

(C) &g Wi Tt # § TRreheq 1 & M A & |

(D) ¥ G a1 T

131. The heaviest I-section for same depth is

HHH TEUR & o e vl [-de9ve R
(A) ISMB (B) ISLB (C) ISHB (D) ISWB
132. Area of openings for buildings of large permeability is more than
(A) 10% of wall area (B) 20% of wall area
(C) 30% of wall area (D) 50% of wall area
& IR STt Wi i Seret &5 CEEC
(A) SR & B 10% (B) /&R &= %1 20%
(C) <Wam &= &1 30% (D) <Haw & %7 509
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133.

134

135

136.

137.

A web plate is called unstiffened if the ratio of clear depth to thickness is
less than

9 T ) 37T HE AR oW Ol e A e wagwa AFAR
(A) 35 (B) 50 (C) 65 (D) 85

Which of the following types of rivetted joint is free from bending stresses 9
(A) Lap joint

(B) Butt joint with single cover plate ESE

(C) Butt joint with double cover plates “5

(D) None of these E.ﬁ

Frm & 3 N & TR s PR St o i 4 g 2 2

(A) ST (B) T HA W H WY T S

(C) o Fa = & T TS (D) 38 A s TE

Pick up the correct statement from the following : )

(A)- When the gauge distance is larger than the pitch. tie failure of the
section may occur in a zig-zag line )

(B) When the gauge distance is smaller than the piick, the failure of the
section may occur in a straight right angle scction through the centre
of rivet holes ‘

(C) When the gauge distance and pitch are both equal, the failure to the
section becomes more likely as the diameter of the holes increases

(D) All of these .

Frfofiad & ¥ T2 YT & T8 B

(A) v st gt firer & gEe R, FE < STt 3 -2 Y W afed B T @ | |

(B) ¥ 7 gfi = & TG &, L ) T €Y T deee | fae ol
FAA AR THA 2 | ‘

(C) 9& 9 e fr A1t w9E £, FFE F GUE B ) TWET T S -

NG FIETL

(D) ZE = |

In plastic analysis, the shape factor for circular sections, is

(A) 1.5 (B) 1.6 (©) 1.697 (D) None of these
e Taverur i, et S w1 ST 0 &

(A) 1.5 (B) 1.6 (C) 1.697 (D) T q 1 TE
The ‘centre line method’ is specially adopted for estimating

(A) Circular buildings (B) Hexagonal buildings

(C) Octagonal buildings (D) All of these

o7 Tt ey 1 RO BT A HERTAGIR - % 3o &g |

(A) FARE 9G4 (B) WHSTR Ha

(C) HEYITHR HaA (D) s
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138. The ground surface slopés 1 in 50 along a proposed railway embankment 150
m in length. The height of the embankment at zero chainage is 0.5 m, the
width is [1 m and side slopes 2 : 1. If the falling gradient of the embankment
is 1 in 150, the quantity of the earthwork calculate by Prismoidal formula, is

150%@?%9@%%@%%%50%@@&;?@3
gmmﬂﬁﬁéasrﬂa,aﬁwﬁnrﬂawm—mz:l | Al FewY
UL STt 150 # 1 R, frewmira g & afesfer gemay $ o 2

(A) 3250m’  (B) 3225m3 (C) 3275m3® (D) 3300 m3

139. The item of steel work which is measured in sq. m. is

(A) Collapsible gates (B) Rolling shutters
(C) Ventilators and glazing (D) All of these

@t =t e & mn 7o R e e ) 9w e

(A) Rmeaigr (B) fefm wrex

(C) HaTae TUT Tore (D) It

140. IfL is the 1engtl_1 of vehicles in metres, C 1s the clear distance between two
consecutive vehicles (stopping Sﬁht aistance), V is the speed of vehicles in
km/hour, the maximum number N of veuicles/hour, is

a&Lmﬁ?—iaﬁrﬂaﬁ%,a‘r}mdmﬁ%mﬁah@(eﬂaﬁmtﬁf@)
c%,vamﬁwﬁr%.rﬁ.sr%mr%,aﬁa/aaﬁmmN%
(A) N=1000 VAL +C) (B) N=(L+C)/1000V
(C) N=1000L/C+V) (D) N=1000 C/L + V)

141. A flow is called sunei-sonic if the
(A) Velocity of tlow is very high
(B) Discharge is difficult to measure
(C) Mach number is between 1 and 6
(D) None of these
YaTE WA FEerrdl 8, T
(A) T H I ATITE | (B) foreety AT iy @ |
(C) A a1 36 Huem g | (D) &8 A B 7t

142. An object having 10 kg mass weighs 9.81 k .
value of ‘g’ at this place is : g 0n a spring balance. The

10 %.m.m%mwmﬁﬁgwmm%l%m% ESEL b
(A) 10m/sec? (B) 9.81 m/sec? (C) 975 m/sec (D) 9 m/sec

——

‘_‘—'-‘-----...-—.._

o — —— — —— — —
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143. The loss of head due to friction in a pipe of uniform diameter in which a
viscous flow is taking place, is (whcrePR%l = Reynolds numb::rb) ’

mﬂﬂmuﬁﬁmﬁwmﬁwﬁmﬁm%waﬁd!ﬁt
(ST&f RN = Hics T&)
(A) I/RN (B) 4/RN (C) 16/RN (D) 64/RN

144. Borrow pits should preferably be located in
(A) Field on the left side of the canal
(B) Field on the right side of the canal E‘EE
(C) Fields on both sides of the canal =
(D) Central half width of the section of the canal

A ARHEa: T giAT =R |
(A) 7T& % sl 3R & AgH (B) &% grff ot & A
(C) & % 3l 3 & BeM (D) TexH da i i o <hgrd

145. According to Lacey, depth of scour in a river depends upcn the straightness of
the reach. If D is depth of scour in regime flow in a right angled bend, 1t 1s

ﬁ?ﬁ?‘ﬂiﬂﬁ,ﬂﬁﬁﬁéﬁwﬁmﬁﬁwﬁéwﬁ;%mﬁwmm&m
Tirg i s1egva YaTg F P H TEE DR, T 2
(A) 1.25D (B) 1.50D (). 1.73D (D) 2.00D

146. Pick up the incorrect statement from fhe following :

(A) Side walls of venturi head ilume are splayed out from the end of the
throat at 1 : 10 for a length of 4.5 m.

(B) Le::igth of side walls should be such that the width of the flume is
made equal to 2/3" the bed width of the distributary.

(C) Once the width of the flume becomes 2/3 of the width of the distributary,
the splayed walls are increased to 1 in 3 to get full bed width.

(D) None of these

freferfiaa & & TeTd U BT T B

A) ?ﬁﬁaﬂﬁﬁwﬁm%m%@ﬁutﬂaﬁuﬁ%ml 10
SoA kel b LS B S B

(D) T I T
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Al O S T .

Garnett’s diagrams are used for graphical solution of design equations of a

canal by ’
(A) Lacey’s theory (B) Kennedy’s theory

C) Gibb's theory (D) Lindlay theory
© lmm%a&waﬁm%mﬁ@ﬁ%mwﬁzmm

I TordT ST R |

147.

(A) deht S g (B) e forgra
() fires & fagia (D) foreat & Rrga

148. Groynes are generally built .
(A) Perpendicular to the bank (B) Inclined upstream upto 30
(C) Inclined downstream upto 30° (D) All of these
TI$ HIHA: S99 S & |
(A) R* &S (B) SHEAYETE % 30° I A
(C) a8 % 30° T T (D) =g asft

149. The sensitivity of a rigid module, is
3¢ Higqel i guTRa &
(A) 2.00 (B) 1.50 (C) 1.00 (D) Zero

150. A rectangular plate surface is 2 m wiac and 3 m de?. It lies in the vertical
plane in water. What will be the total pressure and position of centre of
pressure on the plane surfacc when its upper edge is horizontal and
coincides with water surface (Take g = 10 m/sZ, p = 1000 kg/m?)

Th HFAHR @I Hl e 2 et I 3 3 Mt 128 R | 99 F 77 FEhR
THAE T B | IWHI Fei 4IF IR W H; hY Haet Tag W AR w1 2l S
mm#@m@aﬁmmmm%?

(g =10 m/s2, p = 1000 kg/m3 A o)

(A) 90LN,22 (B) 80KN,15m(C) 100kN,2m (D) 89KN, 1 m

151. A cantiicver of length 3.0 m fails when a load of 5 kN is annl;
end. If the section of the beam is 50 mm x 70 mm, the strézsaal,)tp%gﬁnzt \tal;li?l gg ?

3.0 e e i Hiefler i & ST & o 3u% e Ry
BT 2 | 3f o7 1 HRH 50 mm x 70 mm B, &iﬁmg\?%qg;g:;;gﬁw
(A) 350 NImm? (B) 500 N/mm? (C) 450 N/mm? (D) 550 N/greg?

152. If the magnetic bearing of the line is S 50° E and ; o
is 8° 16" E, then the true bearing of the line will be the magnetic declination

~ IfE U W@ 1 gEhE BT S 50° E R sk g 5 i
e R 2o I foma 8° 16'E 2, Y o
(A) S4I°44E (B) N3IPHM'E (O) S48 I6E (D) 5450 16w
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153.

154.

155.

156.

157.

When a specimen t:‘f'MBS concrete is loaded to a stress level of 10 MPa, @
strain of 100 x 107° 1s recorded. 1f this load is allowed to stand for a long
time, the strain increases to 1000 x 10 6. n accordance with provisions of
IS : 45_6-2000, considering the long-term eftfects, the effective modulus of
elasticity of the concrete (in MPa) is :
K| Mzsdﬁﬁzéﬁ;\gﬁ 10 MPa Sfrae &R qe wita fasan st &, 100 x 109
fagpfa st 2 | Tf 3 R H) e @ng a wEA HgEa fan A
farpfar 1000 x 107° s wgd & 1 1S : 456-2000 F gl & a?w &atat
a7 X FET R §U, ehIE 1 IMTEITe! St o (MPa LR
12000 MPa (C) 25000 MPa (D) 10000 MPa

(A) 12500 MPa (B)
d sample 16 cm length and

A constant head permeability test was run on san .
60 cm- cross-sectional area. Porosity was 40% under a constant head of
30 cm, the discharge was found 45 cm3 in 18 second. Calculate the
discharge velocity.

16ﬂ:ﬁéa1§am60cm2a§9w—mﬁaaﬁmw@m?m%3¢m
e ST T | 30 S fRR ¥ & anef wwa 40% o 18 Bes # fam

45 cm> firem o | fget 3 @1 o R |
(A) 5.12 x 1072 cm/sec (B) 4.17 x 10~ cm/sec E?E
=1

(C) 1.5x 102 cm/sec (D) 1.0 1072 cm/sec

Flexural strength for M25 concrete grade vill be :

(A) 3.5 (B) 2.5 ey 1.5 (D) None of these
M25 3rg Fshie T ST WIHe & - |

(A) 3.5 (B) 2.5 (C) 1.5 (D) 8 A HE T

For manometer, a better liquid combination is one having

(A) higher surface (ension (B) lower surface tension
<ion is no criterion (D) high density and viscosity

(C) surface tenc |
ﬂﬂﬂa%ma&ﬂtaﬂéﬁmaﬁ@%ﬁﬂﬁ |

(A) TR B~ (B) Fem gE-a

(©) tlg-aqﬁaﬂ'émﬁ:lﬁ (D) I HF T AT

ischarge through 2 convergent mouthpiece 1s the discharge
El;lhrglgglica: i%ternal nglouthplece of the same diameter and head of water.

(C) Three-fourth (D) Double

(A) Equalto (B) One-half

Fham ¥ FR-uR fere 3 ft = 3 o ofid A

At gﬁ 3 SR~ Fesi & |

A) Fswaw (B s (C) TR (D) IO
”””””””” 29 Code No. : C-741/2021/Series-D

https://snowstudy.in



158. The effective length of a battened column is increased by

TSR WY Y yurel T EECCIK RS
(A) 5% (B) 10% ©) 15% (D) 20%

159. The greatest gauge of long rivets should not exceed (where d is the
diameter of the holes).

& e &1 wgaw ¥ 3ftres 7 @ =nfav | (I d fosl % s 2)
(A) 2d (B) 4d (C) 6d (D) 8d

160. If the thickness of plate to be connected by a rivet is 16 mm, then suitable
size of rivet as per Unwin’s formula will be . ‘
& e & et o 2 39 e &) 9 16 mm &, 9 AT §F & IFIER 9z
! I9YHT T B
(A) 16 mm (B) 20 mm (C) 24 mm (D) 27 mm

161. If L is total length of a canal in kilometres, P is tota! perimeter of its lining
in metres and C is the cost of lining per square metre, the additional
expenditure involved on lining, is

A L F&0 1 o v fheiiiien & 8, P 9w w1 g ity & fiew @

3R C ATER T ey ot wftex # 2, T AN R Fog fafed @< &

(A) 100PLC  (B) PLC/1000 (C) PL/1000C (D) PC/100L
162. A 100 year peak discharge means -

(A) A maximum discharge wtich occurs in 101 year

(B) A maximum discharge of 100 years recurrence interval

(C) The peak discharge during preceding year will occur 100 years after that
(D) A maximum discliarge with 1000/0 probability of reoccurring during

next 99 years.
100 & 1 =H faosi+ & gaers ® -

(A) 3H#gT FESH A 1019 9 Hufq aar g |

(B) 38 wEww ferersia & forest Trafer afawer 100 w98 |

(C) ﬁﬁﬁm%mﬁaﬂwﬁmmoaﬁmuﬁam|

(D) & wew foeri forees et 99 o & qa:mfed &1 3 damam 1000/0 2 |
163. Poise has a unit of :

@I TS 8 -
(A) Dyne-cm-s*> (B) Dyne-cm/s? (C) Dyne/cm-s2 (D) Dyne-s/cm?

164. Maximum percentage of longitudinal tensile reinforcement in RCC beam is :

RCC &9 § 3r¢ed a--a 1 HewH Shwe & -
(A) 4% (B) 2% ©€) 3% (D) 1%

e e . i
e e . —— .
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‘ \.‘-l Ny 3 S i | s ] “ t‘ .l o } . :
168, Flakiness index is % by weight of particles in it, where least dimension is

less than :

: /80 F Tae : - i : :

Q) 3 58 of its mean dimension (B) 2/5" of its mean dimension 1
() 4/ 5% of its mean dimension (D) 7/8" of its mean dimension

TP THTH & BN § @ T BT % H, &l fem q
(A) s wrey T s 3/54t (B) mﬁmﬂwzfsa’fwgl
(C) 379R Wrey o &1 4/5at (D) 319 HTey forear 1 7/8aT

180. What will be horizontal thrust (in kN) if bulk density is 18.0 kN/m?, angle
of internal friction ¢ = 30° and height of embankment is 3.0 m ?
A TYE TAS 18.0 kN/m?3 , 3Hiafish wdur shior ¢ = 30° 3R dewel i S 3.0
HIKX ¢ 79 &faw woie (kN &) =1 8 2
(A) 27.0kN (B) 540kN  (C) 60.0kN (D) '8.5kN

167. In general, depth of plate girder is kept as of sparn.
(A) I'5t01/8  (B) 1/8to1/10 (C) 1/10to 1/12 (D) 1/12t0 1/15

FIHTIE: T TS 3 Terd ! ferfer T2 |
A) 15818 (B) 1/881/10 (C) /108112 (D) VI2® /1S

168. At vena-contract a jet has the minimum area of cross-section and so the
velocity of liquid jet this section will be
A) Minimum _(B) Maximum (C) Average (D) Zero
gzamqt,wﬁz%a@w—mm 27 A Bl & 3TN W HRU 39 YA

R T A HT A &M
(B) Wewn  (C) 3w (D) X

(A) =AaH
169. The transplantation of rice requires 10 days and total depth of water
required during transplantation is 48 cm. During transplantation, there is an
effective rainfall (useful for irrigation) of 8 cm. The duty of irrigation water

(inhectaren ooUIR fa:h &1 aavaedl gt 8 3R Afalow & g S B

gfegraer ® 10 ;
e o e & | a0 % e 8 ) o e (R o
mﬁ)‘@?ﬁ% | s Tﬂﬁﬂ(hectares/cumecﬁ)ﬁ%; |
(A) 216 (B) 612 (C) 250 (D) 108

s zero over half of the cross-sectional area and is uniform

170, ity i ion factor i
% If the velocily n the momentum correction factor is

o e, e
H O § | o 4 ESE
(A) 1 (B) 4/3 __—____E(E 2 (D) 4 Eﬁ?ﬁ

i R i . e S
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